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Marker commentary

M5

3™ harmonic correctly identified and drawn.

Frequency toward microphone A correctly calculated.
Candidate does not show a causation between the
wavelength decreasing and the frequency increasing (while
the speed of sound in air is constant) or vice versa. This is
most easily done by linkingtov = fA.

M5

Beats are correctly described, but there is no mention of why
the interference is constructive or linking this to the volume. It
is incorrectly stated that as the waves are slightly out of phase
that there is both constructive and destructive interference.

The explanation for 2cii is restating the information given in
the question without providing a logical causation.

2d Identifies Resonance correctly, but is unclear to the link to
the natural frequency of the wine glass. The building of
energy and hence a maximum amplitude is not mentioned.

M5

The explanation in 3b shows no link in describing why the
interference is constructive.

N dx
The approximation of nA = Tx is used, rather than

recognising that as the angle to the maxima is large, the
approximation of sin 8 = tan 6, is not valid.






